


— L
x4
slga sl

315 e 455 ks 1y Loyl l o) & (alag s o

.o,la )ngJ—w




.Aﬁwdl&.ﬁlb&égbﬂbb.?d%ﬂ)m .

JaEe &S Cowl (Su3d Guols) Cuwl 00le TS 1 gl dilows 8z

(&S (59 6).:5 o)1) 1y (S gi‘g)é dg=>g0 03e




\\ I ————

e D3 Wﬁw&) S, 3l &S ] U.m.sljs L3l 69)-*—“&))3 o

\*,.._\

*
*

.bs.w

WS 0 5B 5ae) 35y 3 O dbold w3 g S Oy Sl -

.D)‘DW k:«.f..wt.s 6)_? _ l_g O}s —

9, e




\

.

TS Al el ) (S ool SO L pate SO
Jituss bglse (S0d glgil Lolé -

(Jsloe) CasrlgiSo MalS o 38 bogliea o

1980 e« Sl bglss o

3,5 S8 0 3 (plesd Jlesl b




Pure materials

Physical process Chemical process
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Intensive properties of matter
Goalfinder.com
Types of intensive properties :

m 0N I (9
Pungent smell » 30
Colour Odour Luster  Meltingand Specific heat

Boiling point  capacity

- | 1=l

Malleability  Ductility ~Conductivity  Density Pressure
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1. 0.036653 m
2. 7.2100x107 g

3. 72100 km

4, 25.03 %
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3.18 + 0.01315 = 3.19
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Lavoisier’s apparatus
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Voltage

v T > o
R WVacuum Tube

™ Metal Disks
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Phosphorescent background strip

A

)
Anode

Visible
cathode ray
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Telescopic
eyepiece
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Charged oil droplet

\under observation

- Pinhole

X rays to produce
charge on oil droplet
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Electrically charged
brass plates
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Gas molecules
To vacuum pump Positive ion
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The first energy level ———
can hold a maximum
of two electrons.

Go)

Hydrogen, H Helium, He

Atomic number: 1 Atomic number: 2
Mass number: 1 Mass number: 4
1 electron (2 protons + 2 neutrons)

2 electrons

The second and third j@j

energy levels can
each contain up to 8

@ 1

electrons.
@
- P
Lithium, Li Neon, Ne
Atomic number: 3 Atomic number: 10
Mass number: 6 Mass number: 20
(3 protons + 3 neutrons) (10 protons + 10 neutrons)

3 electrons 10 electrons

38
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The Atomic Mass Unit, amu

Flei mo=t commomn
Cark=an atom

The atomic mass unit, or amu, is 1/12 ofthe
mass of the most common isotope of carbon.

40ppt.com
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1amu=1/12 "gC
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Three Isotopes of Hydrogen

(D (D
lH ZH 3H

Protium Deuterium Tritium
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